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A tangent line intersect the circle at PP A S|
Single point ¢ 4Ll (D) Twopoints (s (C) Threepoints 4iticf (B) Nopointatall K55 W

LUt L}-‘.’gﬂfuu!ic-u:}'wcﬁirxw:f /Lf s | @

A pair of chords of a circle subtending two congruent central angles is
Incongruent Ji=# (D)  Congruent S (©  Overlapping /»(B)  Parallel 17 (A)

Aline intersecting the circle is called b/l | )
Diameter (D)  Chord Js (C)  Tangent UV (B) Secant ks (A)

The solution set of equation 8x"—32=0 is e ¥ 8-32=0 =il | (D
(+2J@ {2J© {4}1® {(+4W

The quadratic formula is eV fiBnn | (5)
SRRV () x= ————"’ifjj‘; © x= 2 ) ks ————-—"“—‘ﬁ’z?“; w

Cube roots of unity are B L | ©
—w = 17 (D) 1,w,-w (C) L,w,~-w (B) L,w,w (A)

If a, B are the roots of equation ¥-x—1=0,then @ + Bis fnds a+ B ;u_m,;uﬁ £-x-1=0 abl a,f A )]
w (D) w@© 1® -10W

If atb=x:y ,thenalternendo property is cadUiuin aib=xiy Al ®
ath  xty a-b Xy (o Q. a_b
3~ (0) =6 © - ®) x-y(A)
Find x inproportion 4:x $:3:15 2ok x 4ix 3115 A | (9)
20 (D) 15 6) lf- ® —1% @
The identity (5x +4) =25x"+40x+ 16 is true for coend Lol x “(x+4) =25 +40x+ 16 =L | o)

Three values of X é&ui’...";f(;x (C) Two valuesof x é&uﬂ’ugfx (B) One value of x %.Lcuj.{ufx \
All values of x 4.£u.v"4? (I?J x (D)

4.&')1.‘,:/:33@,:‘}(; an

{a}(D) {2, {a}} © {0} ® ¢ )

3 SumlEt AXB Fun 20 Bain 3ASENILA arfi| 2

Power set of an empty set is

If number of elements in set A is 3 and in set B is 2, then number of binary relations in AXB is
2m 20© 22® 2 @

Mean is affected by change in q_t’n}w}lf iU x bt | (13)
Proportion & (D)  Origin Z(C) Ratio =X (®) Valie =4
- el 14)

l-*8 (D) l1+cos’@ (© 1-sin’6 (B 1+tan’ 8 (A)

Right bisector of the chord of a circle always passes through the P S o, ALt | (15)

Circumference ¢ (D)  Diameter A (C) Centre Sr@®)  Radius g (A
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Q. No.2 Write short answers to any Six of the following  2x6=

R AR R A

43:4; I-:d&'z/ﬁ A:A?.I{.:.(_ﬁdiau

(S0 S

—_— S G
o @% bg: oa/

2

- | Define exponential equation

.ih.il ; J .:al;l/(j(;:a; i

Solve by factorization 3yz =y(y-5)

Iy =y(y-5) ESFi| i

Write the following quadratic equation in standard form G+D&-3) = -7 P hS et igiir | i
Find the discriminant of the following given quadratic equation 4 +Tx+2=0 ér’)"-/ J; b’:.'l:v&um,ti(g» iv

Evaluate w' +w" -5

witw'-5 Zebrod |

Write the quadratic equation having the following roots 4,9

4,9 &! -%lll/&/wdbujudﬁbu vi

If VoR' and V=5 whenR=3, Find K

gobrodfk In"R=3 o2 V=5 4l VR i

State theorem of componendo-dividendo

gk Lr | v

Find a fourth proportionalto 5, 8,15

5,8,15 ek oGz | i

Q.No.3 Writc shortanswers to anySix of the following

m6=12 i Langeddits 34Ny

What is meant by resultant fraction ? Tl /k(c:.,/ S i
. . 3x2- 2x-1 3x2- 2x~1 - i
Convert into proper fraction Y P T éd/{ v /.._.el: i

Represent intersection of two scts A and B in set builder niotation

& Liw 3N ANB) EELB wA Uirn | i

If A=N,B=W, thenfind B—A

e+ B-AIB=W A=N Ji| iv

Find ‘a’ and ‘b’ if (2a+5,3)=(7,b~4)

(a+5,9)=(7,0-4) Szl bala| v

If L={a,b,c}, then find a binary relationin LXL

) Zgr:b‘HJJk:\.{luf LXL L=:(a,b,c}fl

‘What is a Histogram ?

Using basic formula , find the geometric mean of the observations 2,4, 8

vi
s LB | i
ZEP s BIN 2°4°8 couliridl | v

Findrange 11500, 12400, 15000, 14500, 14800

11500, 12400, 15000, 14500, 14800 ZEp*or | ix

Q.No. 4 Write short answers to any Six of the following

2x6 =12 2 f =z Lange Sditn s iy

Define degree measure of an angle

E 3RS |

Convert 315° to radian

g dtehs 315 | i

Find ‘ 6’ when £=45m, r=25m

=asp ‘r=25 pEleadd (00| i

Verify that (tan 6 + cot §) tan 0 = sec” 0

(tan 6 +cot Otand =sec’ 0 Lot | iv

Define major arc of a circle .é_y/’&/iw{éuu v
Define circumference 2{-1_’ /". JL{ vi
Define central angle o/ J,_.;,Udf 7/

R s intSe B A WLl s’ F6 | i
Draw a circle of radius 5 cm passing through points Aand B , 6 cm apart

Define perimeter

Z 0| ix
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8x3=24
NOTE : Attempt THREE questions in all But quesﬁdn No. 9 is compulsory

U 9 AR surlciirf Sedtogt 1)

Prove that if two chords of a circle are congruent then they will be equidistant from the centre

N /.,& }

Prove that any two angles in the same segment of a circle are equal WL stslaffy e ux&mﬁu’u_ﬁwuﬁmr;uf 2t

Solve the equation —— - —— = 1 using quadratic formula ES e dLirhgond 22 - = =1 able | WAy
2{,':"‘:#3(! agﬂ + ap? ;u.nu"ué x2+px+q=0 bl ,a/‘ ®)
If @, f aretherootsofthe equation x’+px+q=0 , thenevaluateof a3f + af>
4 2 +2 ) . o
# x= ;% Sigkpdsdf ,’:—% + 222 gk S P Undie | (W-6 AU
. s X+ 2y X+ 2z _ 4yz
Using theorem of componendo ~ dividendo find the value of gy * w=gz if x= o
3 : i 9x-7 9x -7 4
Resolve into partial fractions G ezl m—ﬁ :f.{ywl/diz ®)
AUGBNC) = (AUB) N(AUC) /Z=st? A={1,2,4,8} , B={2,4,6} , C={3,4,5,6} S | (A-7.4Uir
I A={1,2,4,8} , B={2,4,6} , C={3,4,5,6} thenprovethat AU(BNC) = (AUB) N (AUC)
Find means L uids | B)
Length dv | 20-22 23-25 26-28 29-31 32-34
Frequency (£} 3 6 12 9 2
(—VZ,1) @l Qe gaeed B¢ BugndH L0 bl | (A8 Ay
The given point P lies on the terminal side of 8 . Find quadrant of 8 and all six trigonometric ratios (-—- V2, 1)
U3l 3 S Al [CA| " BC ° AB LU £ tosin el AABC | (B)
Circumscribe a circle about a triangle ABC with sides  |[AB|=5cm , |BC|=3cm , |CA|=3cm
Luanlﬂld;b-c.,f /u?umf l}‘}'wﬁg_.ﬂ:flf é_ﬁ:? -9/.'7¢Jlr
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Ll .,Ii.u:( Ay’ J L /'/( éﬂ&.f /,f Usomsbienfl o K e

> 1 S0 St 1
The range of R={(1,3),(2,2),(3,4)} is ¢Ust Range R I R={(1,9,2.0,6,0} Ji | ©
{1,4 ©® {1,2,4y © {2,3,4 (B {1,2,3} @
Mean of a variable with similar observations , say constant k is q._l:n.lwu}vd_ﬁk Aﬁ‘;}-" 1% ot o (5F LIK5 2 (f( @
Positive = (D)  kitself koAl (@) Zeo (®) Negative & (A)
p ] p ) — ®)
1200’ (D) 3600 (© 630’ (B) 360" (W)
Locus of a point in 2 plane equidistanf q_b'ﬂ{ ............... um;k-l&&:-ﬁu‘f g7 e Lo~ | @
Digmeter #8 (D)  Circumference 4 (C) Radius U(B) Circle o5 W
0.5 S— :_-WZ,JUJ Uég»c—ﬁa:ﬁf-dbu.ﬁ )
Two tangents drawn to a circle from a point outside it , are of cc.....coee in length
Equal"4z (D)  Triple ¢ff ()  Double Vw(B) Half i (A)
ST I— uﬁ(_ﬁfuwz.'r:.—w}'w(fdrﬂ)df /gf el ()

A pair of chords of a circle subtending two congruent central angles is
paraliel ($#17# (D) Overlapping i (C)  Congruent Ji»(@®) Incongment S W

The measure of the external angle of a regular octagon is ﬁ:_a.vul.é"u( ,31‘?8; ,gch.v)‘# |’P N ¢))
n T ™ w
4 (D) % © B (®) 5 (A
The solution set of equation 5%’ =30x is ey 5 =30x 2hlr | (8)
{~-5,30}(m {5730} © {0,6)® ({0,-6} (€:N)
An equation of the type 7+37+6=0 is a/an q.(’(f F+3P  e6=0 bl | (9)

Linear equation ahlagsf(C) Radical equation ahlofsie (B)  Resiprocal equation sl (A
Exponential equation il (D)

Product of cube roots of unity is 4_...41"}‘ WJm,LJﬂ o)
3 (D) 1 © 1@ 0 W

The discriminant of 25 +3x~1=0 is ctmaI 3 +3x-1=0 able | (1)
-16 (D) 16 © ~17 B) 17 (A)

Fhe fourth proportional ‘d” of azb:: cid is 4@ ABRL  aibi c:d| (12
2 o b © w7 W

If ucx v’ , then Jaccy A (3
w=1 (D) w=k/? (©) w=k @ u=v (A)

&:5%;5 is G resinnanineans -.-gi -(;;;—‘(x—a) (14)

anidentity =41 (D)  anequation =tsbe (C)  animproper fraction Aeals# (B)  aproper fraction S (A)
If ACB, then ANB is equal to cbstds ANB ix ACB Ji| @5

subset o (D) Powerset 2, © 2 B® A )
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Q.No.2 Wnte short answers to any Six of the following 2x6=12 5‘4}" ..-;LU:/‘? [_'l?.lic.,utdibu 2/.'}[,,‘}”

Define quadratic equation ZEi S eblaGon i
Solve by factorization x*~20=x X-20=x ZS6Fi| i
Solve 2-x'=7x 2-x'=7x .éd' iii
Find the discriminant of the equation x”+ 3 =3x X+3 =3x q’f{:""aﬂd‘}(&bb iv
Bvaluate (1-3w—3w')’ (U-3w-3w) Zebod | v
Find the sum aud the product of the roots of the quadratic equation 35+ 7x~11=0 irk‘._«/g)’ bosstos? b’u’ uz_ub!/&uu vi

If 34x—5y)=2x-7y , Findtheratio x:y Zek xiy elln 3x-sp=2x-79 S| vi

¥ VXR’ and V=5 when R=3, Find K ZeK J T R=3 w2 V=5 o VR | vi
Find a third proportional to  a°, 3a’ a',34 ’é;rs""u/t; A ix |

Q-No.3 Write shortanswers to any Six of the following 2x6=12 cf.g/ ..JLU’/ é»!]l{::.uﬁd:bz: 3 /Jlr
Define improper fraction @/JJ/JI:/ i

o x—11 A B
g{r#wc'JB ol A ——— = == Al i

(x—4)(x+3) X— 4

x—-11 A B o
m—— m-l- ey then find the values of Adand B

Define one —one function é;.y /: L! Sen-ps iii
If X=0 , T=0" thenfind XU T Zeb XUTIn T=0" "X=0 S| w
Find 2 and bif (3-2a,b-1) =(a—7,2b+5) (22 ,b-1 =(a-7,2b+5) Jighpd*bwa| v

ey 8L LM I M={3,4} L={a,b,c} /I | +i
If L={a,b,c} , M={3,4} then find two binary relations of L. X M

Write two properties of Arithmetic mean q{/j.yyﬁm!’w‘}u vii
Find Arithmetic Mean of following data 45,60,74,58,65,63,49 Lot d st | vii
Find Median of 79,82,86,90,93 79,82,86,90,93 ZEph e | ix
Q.No.4 Write shortanswers to any Six of the following ~ 2x6 = 12 Z iz Lage Ltditn 4 Ay

Define angle in standard position Z /. 2z ilan i

Find‘ 6’ when £=4cm, r=3.5cm > 07 f=4em “r=35om 2| ii
Convert 135° into radian Erdgh 135 v
Define right angle Lyl | v

Define tangent to a circle ZEw Sl | i
Define cyclic quadrilateral £y eSS | vii
Define Regular polygon Z 35w dIE | i
Divide an arv of any length into two equal parts E LU awl US| &
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8x3=24 8 9 AU ezl atird S tou e

NOTE : Attempt THREE questions in all But question No. 9 is compulsory

S nt=0t-4 el | A5 Ay

Solve the equation at=95-4

’ér:"“‘:»z(; ‘azﬁz Ju.nujuﬁ 4 -5x+6=0 =bls fB,a Sil®
If @,f aretheroots of the equation 4x*-5x+6=0, then fined the value of azﬁz
a _at+tb ¢  c+d I )
Lo B s s S e Gb'od# 0 abiiond A | ar6.Adr
at+b ¢ c+d

If abiic: * W — -
fa c:d (a,b,c,d 0 ﬂ'lenshq that 3 b c_d
R :{:‘T.Jc", J.w/d.l?. ®)

11x+3
solve into partial fractions GoeE19) ®-3)Z+9)

(A-B)= ANB' ZE=din B ={1,4,7,10} 5 A={1,3,5,7,9} , U={1,2,3,4,.—.10} S | (-7 AUir

If U={1,2,3,4,..10} , A={1,3,5,7,9}, B ={1,4,7,10} thenverify (A-B)= ANB'
b i f ity L s | (B)

Find the standard deviation ‘S’ of set of number 1,2,6,7,3,15,10,18}5

Lt U Qo g B O ol e BhpadIL 60 PQ2,-3) S A>-8. AUl
The given point P lies on the terminal side of 8 . Find quadrant of 8 and all six trignometric ratios  P(2,~3)
®)

4 JUJCP S B e tadin e Sal i

\Circumscribe a circle about an equilateral triangle ABC with cach side of length 4 cm

q—t'n»’ 4/'1:3,.’5"'111:1../ i g (M;)"’R))'J‘f( Py /Lé..ﬁbé@:l‘ -9/4)'/

Prove that a straight line , draws from the centre of a circle to bisect a chord (which is not a diameter) is perpendicular to the chord

or/}
B zfty e uxibu.‘.’u’b;k’m.szz,;l} gt

W0 AR

Prove that any two angles in the same segment of a circle are equal
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